Class 3 Year 4 Maths Home Learning
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Reasoning
Which part whole model does not match the hundred square?
Explain your answer
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True or false?

£ and & are both equal to one whole. Choose an appropriate method to explain.




image5.tmp
4) Choose two fractions that together make one whole. Explain why you chose those fractions.
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3) a) Use the image to fill the gaps in the fractions.

=— and = and == make =—

b) Complete the fractions to describe this image.

=— and == make =—
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2) Which of these fractions represent one whole? Explain your answer.

H
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1) Complete the sentences to describe the fruit.

| 2 18 1

a) == of the fruits are apples. b) == of the fruits are bananas.

¢) = and = make one whole.





